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Note : Answer any five questions.

1. (a)

(b)

(b)

Lot-II

What is Financial Management ? How does
the financial decision-making involve risk-

return trade-off ? 4+8
Discuss the role of financial manager. 8
What do you mean by ‘present value of a

future amount’ ? How are the present

value and future value calculated ? 4+ 8

What are the different types of Cost of

Capital ? Explain. 8

P.T.O.
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(a) Explain the concept of working capital and

also discuss its objectives. 2+8

(b) Distinguish between Securitisation and

Factoring. 10

A firm has a sales of % 75,00,000; variable cost
% 42,00,000 and fixed cost ¥ 6,00,000. It has
debt of ¥ 45,00,000 at 9% and equity of
% 55,00,000.

Calculate its financial leverage and operating
leverage and if its sales drop to ¥ 50,00,000
what will be its new EBIT ? T+7+6

(a) What are the factors involved in the

valuation of securities ? 10

(b) Explain the concept of ‘Risk’ and ‘Return’.
What are different types of risks ? 10

Explain briefly the different types of sources of

long-term finance. 20

What is Lease Financing ? Discuss different
types of lease. What are its advantages and

limitations ? 4+8+8

A company is considering which of the two
mutually  exclusive projects 1t  should
undertake. The cost of capital is 10% and the
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net after-tax cash flows of the projects are as

follows : (X’ 000)
Cash Flows
Year
Project X Project Y
0 (200) (200)
1 35 218
2 80 10
3 90 10
4 75 4

Calculate the NPV of each project and suggest
with reasons which project company should

undertake. The discount factor at 10% is : 20

Year Discount Factor
0 1
1 0.91
2 0.83
3 0.75
4 0.68

P.T.O.
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9. Write notes on any two of the following :

(a)
(b)
(c)
(d)

10 each
Capital Rationing
Dividend Policy
Receivables Management

Capital Structure
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